
1

2

3 ２１４×３８＝８１３２ をもとにして、次の積を求めましょう。

＝② 5 4 3 ×

① ２ １ ４ × ３ ８ ＝

③ 5 4 3 × 2 6 ＝

2 6

９ ５ ０ ４

③ １ ７ ６ × ５ ４ ＝ ９ ５ ０ ４

② １ ７

５ ＝

６ × ５ ４ ＝

日にち：　　　月　　　日

名まえ

１７６×５４＝９５０４ をもとにして、次の積を求めましょう。

① ４１ ７ ６ × ４９ ５ ０

５４３×２６＝１４１１８ をもとにして、次の積を求めましょう。

① ５ ４ ３ × ２ ６ ＝ １ ４ １ １ ８

① 例題
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(うすい字はなぞりましょう。)

(うすい字はなぞりましょう。)



1

2

3

８ １

＝ １

６ ＝ １

② 5 4 3 ×

５

３ ２

８

２１４×３８＝８１３２ をもとにして、次の積を求めましょう。

① ２ １ ４ × ３ ８ ＝

6 ＝

８

③ 5 4 3 × 2 １ ４ １ １

４ １ １2 6

０ ４

５４３×２６＝１４１１８ をもとにして、次の積を求めましょう。

① ５ ４ ３ × ２ ８４ １ １

４

③ １ ７ ６ × ５ ４ ＝ ９

５ ４ ＝ ９ ５ ０② １ ７ ６ ×

日にち：　　　月　　　日

名まえ

１７６×５４＝９５０４ をもとにして、次の積を求めましょう。

① １ ７ ６ × ５ ４ ＝ ９ ５ ０ ４

① 例題 答え
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(うすい字はなぞりましょう。)

(うすい字はなぞりましょう。)


